111-645 57

oboob0obOOobOOobOoOobOobOobOOobOoboOoboOobOooOan

14 9

ugbbodbobooboboaboobboobuoobbobboobooon
gbbodgbbooobuoobooboboobboobuoobmbooobuoobboobuoobbobobao
ggbogbbooboboobuodgboobboobooobooboooboobboobuooboon
gobobgoboboboboobdegnogonog

10gogo

0 10 20 30 40 50

00000000000000%W 00001000010 000000000 150

gboboboboboboboboba2nbooooooooDwyoboooon

¥

0oooooo0 [

gbob0i1ob0ob0obod12000000000000b00000D0OSENTAN

ubbodboboooboabooobboobuoobbobboobooon

10_|

2000000000000
goooobboobooboooogyobogboooobooooobooobooon

gobodboooboobooooboosoogbooboobooboooboon ]

a4

0000000000000000000000000000000000000 X3
.
000200000000000000000000000000000000 wo_letet H
0000000000000000000000000000000000000 0-1000000000
000000000000000000000000 =1 AULS QMR HEKOREE
0000k0000000000000000000 TSFE =7 =5 =3
00000000k,00000000000 (K, / kg PEEm 0.40 0.60 0.80
() 0.126 | 0283 | 0503
OD3n0Dinioininoniinininil  [EE NRKERKekN/m) | 220100 | 162400 | 130800

gooooo

00agooggoog
00010000004 e 10000 1640 O O 0 11.5m~24.5m ¢ 12000 260 O O

gi8om~-185mi bbb diibdei10000 00 0000O0O0O0OOODOO

\&

U bodgbbooboobbooboooo — ]
U obgobogbobooboooboooon *
0-20000000000
U ogooodaboo BHEH ™)
0
U bogoobooabobon 0
ubboooboobobobobuoobuoobboobooon 10

20

ubbodbobooobooboboobuoobboobooon

ugbbodbobooobboobuooboobboabooon TT;

L DPZZRRC) 20
uY2 T2 (BB

(
00oO0odoOoOooooobOoooobobOooooooooon = 2113?&2222
0000000000000 DOO00D0o0oooOo0omo ) m UL 2 ()
000000000 oOoOO00bOo0Do0ooOooooOoon o 4 LTS (B
goooo 0-300000000000

gogbbbuoooobbobbooooobobbbooobobobbbooooooobbooooobobboga
O000o0o0000o0oo000le60(0) 0000000000000 00ODO0ONOOO03-3274-95840 FAX03-5201-6641

-1289-




111-645 57 14 9

FIEEE (KN/m?)
000000000000005mm0000000000000 P e s o

i
ubobooobobooobooboobobooobobooboobo
0000000000000000000000 2000kN/m?0

3000kN/mP0 0 00 00000000000000000000 @ £ e
0D000000000000000000000000000 ﬁ”‘}““‘* wosamem |
0000000000000000000000000000 o ems
0Oos00000000000000000D000000o ol 4 LTS RREE

0000000000000 (02000kN/m)000000000 DMEQQTMDD

00000000000000000000000000000 . ° LI 20

0000000000000 000000000000000 %m44444f4\
00600000000 0000000000 3000

D0000000000k,0Y10030000000000000 5%
= 2000

000000000000 000000k,,03000000000 h:mo
0000000000000 0oo0oooooo0oooooon 1000
Oo0ooooooooo 500
OO070¢ 10000 000000000000 DODOODOOO0O0O 0
60000700 0000000150000000010%00
00000000000 000000000O0D0000000OD
00000000000 000000000O0D0000000OD 10
00000000000 000000000O0D0000000OD
Ooooo OSZRI T
uoT 2 (RIEAERE)
008000o0D00oooo0nimooooooooooon 0.1 LU TSI

OYLT 1 (BIREH)

0000000000000 000000000000000 o Ryl
0.01 I I

0000000000000000000000000000 0 s
00000000000000000 0600 00000000000

[ DPZA

[ DB ¥

AUVYT3

Oo-s00000000000

100

=

HS
[©my

A Ra
?g:ﬁﬁ

[FEHLL

15 20

AR IREEEHRIE
IR 1 1000
400000 RIE A ¢

uboboobbooobooboooobooobobooboan gg:
ubobooobobooobooboobobooobobooboobo 25 |
uboboooboooobooboobobooaoo 155
uboboobbooobooboooobooobobooboan S

gbobobobobobobooboooboooboobooo s

7 9 11 13 15
BEAE%K

gbooooooooobooboboobooboooboooo ob-70oooo0o0O0OOo
oon

gooooo googobooboobboobgoo
HNoo0o000O0DO00O0O00O0oDOO0bOOoooOoboooOoon
oboboo0oooboooo,0o0obogoosrgobooobooon,2002.9
Q00000000000 oO0oobOoooooOooOoooooDooo
oboboboOoooobooboon,2000.6

-'r-nlﬂ—‘l mat | |

0-80000000010

-1290-



